Multiplication Facts (A)

Find each product.
Ox6= 6x1= 12x6= 6x2=
11 x6= 6x5= 6x8= Ox 6=
4x6= 6x3= 6x10= 6x6=
6x7= 2X6= 6x1= 6x11=
6x7= Sx6= 10x 6= 6x8=
Ox6= 6x3= 6x6= 6x0=
12%x6= 4x6= 6x2= 6x12=
6x4= O0x6= 6x6= 6x11=
I x6= Ox 6= 6x7= 6x5=
6x8= 6x3= 6x10= 8 X 6=
6x9= I x6= 6x6= 10x6=
6x0= 3xX6= 12X 6= S5x6=
11 x6= 2X6= 4x6= TXxX6=
Ox6= 8 X 6= 6x2= 12x6=
Tx6= 6x9= 6x10= 11 x6=
6x4= 3xX6= S5x6= I x6=
6x6= 4x6= 6x0= 6x9=
7Tx6= 6x6= 6x12= 8 X 6=
6x3= 6x1= 6x5= 10x6=
2X6= 11 x6= 12X 6= 6x5=
6x7= 6x0= 6x3= 6x11=
Ox 6= 6x10= I x6= 6x4=
6x6= 2X6= 8X 6= 6x7=
6x12= 10x 6= 6x2= I x6=
6x9= 6x11= 6x6= 6x4=
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Multiplication Facts (A) Answers

0x6=0

11 Xx6=66
4x6=24
6x7=42
6x7=42
O9x6=54
12x6=72
6x4=24
I x6=6

6 x 8=48
6 x9=54
6x0=0

11 x6=66
O0x6=0

Tx6=42
6x4=24
6 x6=36
Tx6=42
6x3=18
2x6=12
6x7=42
9x6=54
6 X 6=36
6x12=72
6 x9=54

6x1=6

6 x5=30
6x3=18
2x6=12
S5x6=30
6x3=18
4x6=24
0x6=0

9x6=54
6x3=18
1 x6=6

3x6=18
2x6=12
8 x6=48
6 x9=54
3x6=18
4x6=24
6 x6=36
6x1=6

11 x6=66
6x0=0

6 x 10=60
2x6=12
10 x 6=60
6x11=66

Find each product.

12x6=72
6 x 8=48
6 x 10=60
6x1=6

10 x 6 =60
6 X 6=36
6x2=12
6 X 6=36
6x7=42
6 x 10=60
6 x 6=36
12x6=72
4x6=24
6x2=12
6 x 10=60
5x6=30
6x0=0

6x12=72
6 x5=30
12x6=72
6x3=18
I x6=6

8 x 6=48
6x2=12
6 X 6=36

6x2=12
O9x6=54
6 x6=36
6x11=66
6 x 8=48
6x0=0

6x12=72
6x11=66
6 x5=30
8 x6=48
10 x 6=60
5x6=30
Tx6=42
12x6=72
11 Xx6=66
I x6=6

6 x9=54
8 X 6=48
10 x 6 =60
6 x5=30
6x11=66
6x4=24
6x7=42
I x6=6

6 x4=24
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Multiplication Facts (B)

Find each product.
6x0= 6x8= 6x3= Sx6=
4x6= 6x7= 6x12= O9x6=
I x6= Ox6= 11 x6= SxX6=
10x 6= 6x6= 6x8= 6x3=
6x2= I x6= 6x3= 10x 6=
12x6= 6x8= 6x11= 6x6=
6x4= 2X6= Ox6= 6x5=
6x7= 6x9= 3x6= 6x8=
6x9= 6x4= 6x10= I x6=
Ox6= 2X6= 6x11= 12%x6=
6x5= 6x6= Tx6= 10x6=
6x8= 6x0= 6x2= 6x11=
Sx6= 12%x6= Tx6= 6x6=
6x4= 6x3= I x6= 6x9=
Sx6= O0x6= 6x10= 6x3=
I x6= Tx6= 6x4= 88X 6=
6x6= 12%x6= 6x9= 6x2=
6x11= Sx6= 6x6= I3X6=
8 X 6= 6x10= 6x0= 6x2=
6x12= 4x6= Ox6= 6x1=
6x11= TXxX6= 3x6= 6x6=
6x12= S5x6= 88X 6= 6x7=
Ox6= 2X6= 6x11= 6x4=
I x6= Ox6= 10x6= Sx6=
6x9= 2X6= 6x11= 6x1=
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Multiplication Facts (B) Answers

6x0=0

4x6=24
I x6=6

10 x 6 =60
6x2=12
12x6=72
6x4=24
6x7=42
6 x9=54
O0x6=0

6 x5=30
6 x 8=48
S5x6=30
6x4=24
S5x6=30
1xX6=6

6 X 6=36
6x11=66
8 x 6=48
6x12=72
6x11=66
6x12=72
Ox6=54
1 x6=6

6 x9=54

6 x 8=48
6x7=42
0x6=0

6 x 6=36
I x6=6

6 x 8§=48
2x6=12
6 x9=54
6x4=24
2x6=12
6 X 6=36
6x0=0

12x6=72
6x3=18
0x6=0

Tx6=42
12x6=72
5x6=30
6 x 10=60
4x6=24
7Tx6=42
5x6=30
2x6=12
0x6=0

2x6=12

Find each product.

6x3=18
6x12=72
11 Xx6=66
6 x 8§=48
6x3=18
6x11=66
0x6=0

3x6=18
6 x 10=60
6x11=66
Tx6=42
6x2=12
Tx6=42
I x6=6

6 x 10=60
6 x4=24
6x9=54
6 x6=36
6x0=0

9x6=54
3x6=18
8 x6=48
6x11=66
10 x 6=60
6x11=66

S5x6=30
Ox6=54
S5x6=30
6x3=18
10 x 6 =60
6 x6=36
6 x5=30
6 x 8=48
I x6=6

12x6=72
10 x 6=60
6x11=66
6 X 6=36
6 x9=54
6x3=18
8 X 6=48
6x2=12
3x6=18
6x2=12
6x1=6

6 x6=36
6x7=42
6x4=24
5x6=30
6x1=6
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Multiplication Facts (C)

Find each product.
6x8= 6x6= 6x4= 6x10=
TxX6= 6x12= 3x6= 6x0=
10x 6= Ox 6= 3xX6= 6x11=
2X6= O0x6= 8X 6= 6x6=
6x1= Tx6= 4x6= 6x5=
12x6= 4x6= 6x6= 6x0=
6x9= Sx6= Tx6= 6x11=
12x6= 3xX6= 6x2= 6x8=
I x6= 10x 6= 3x6= Ox6=
12x6= 6x10= 6x7= 11 x6=
6x9= 6x8= 6x4= 6x6=
6x2= S5x6= I x6= 6x8=
6x11= 6x2= 6x10= 6x3=
6x9= 6x1= 4x6= Ox6=
6x5= 6x6= 6x7= 12%x6=
6x6= 6x7= Ox6= 6x12=
6x8= 6x2= I x6= 4x6=
6x5= 11 x6= Ox6= I3X6=
6x10= 3xX6= 11x6= Ix6=
Ox6= 6x6= 8 X 6= 6x10=
I x6= 2X6= S5x6= Tx6=
4x6= 12x6= 6x6= S5x6=
6x3= 6x2= 6x1= 6x10=
4x6= Ox6= 11 x6= 8 X 6=
7Tx6= 6x12= Ox6= 6x4=
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Multiplication Facts (C) Answers

6x8=48
7Tx6=42
10 x 6 =60
2x6=12
6x1=6

12x6=72
6 x9=54
12x6=72
I x6=6

12x6=72
6 x9=54
6x2=12
6x11=66
6 x9=54
6 x5=30
6 x6=36
6x8=48
6 x5=30
6 x 10=60
0x6=0

1 x6=6

4x6=24
6x3=18
4x6=24
7Tx6=42

6 X 6=36
6x12=72
9x6=54
0x6=0

Tx6=42
4x6=24
S5x6=30
3x6=18
10 x 6=60
6 x 10=60
6 x 8=48
5x6=30
6x2=12
6x1=6

6 X 6=36
6x7=42
6x2=12
11 x6=66
3x6=18
6 x6=36
2x6=12
12x6=72
6x2=12
0x6=0

6x12=72

Find each product.

6 x4=24
3x6=18
3x6=18
8 x6=48
4x6=24
6 x6=36
Tx6=42
6x2=12
3x6=18
6x7=42
6x4=24
I x6=6

6 x 10=60
4x6=24
6x7=42
0x6=0

1 x6=6

9x6=54
11 x6=66
8 x6=48
5x6=30
6 x6=36
6x1=6

11 x6=66
9Ox6=54

6 x 10=60
6x0=0

6x11=66
6 x6=36
6 x5=30
6x0=0

6x11=66
6 x 8§=48
0x6=0

11 x6=66
6 x6=36
6 x 8§=48
6x3=18
0x6=0

12x6=72
6x12=72
4x6=24
3x6=18
9Ox6=54
6 x 10=60
7x6=42
5x6=30
6 x 10=60
8 x 6=48
6x4=24
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Multiplication Facts (D)

Find each product.
6x6= Sx6= 6x10= 12x6=
6x11= 6x8= 6x9= Tx6=
6x3= 2X6= Ox6= I x6=
6x4= 3xX6= 8X 6= 10x 6=
11 x6= Tx6= 6x0= 6x9=
6x6= 6x12= 2X6= SX6=
I x6= 3xX6= 6x10= 6x4=
6x11= 2X6= 12%x6= 6x0=
6x6= 6x1= TxX6= 6x8=
6x9= 6x5= I x6= 8 X 6=
12x6= 6x3= Tx6= 6x6=
4x6= 10x 6= Ox6= 6x5=
Ox6= 2X6= 11 x6= 6x3=
10x 6 = 8 X 6= I x6= 6x6=
2X6= 4x6= 6x11= 6x5=
6x7= Ox 6= 12X 6= 6x0=
11 x6= 6x0= 6x9= 6x1=
8 X 6= 6x4= 10x 6= 6x5=
6x2= 6x6= 6x3= 12%x6=
7Tx6= 12x6= 6x5= 6x4=
TxX6= 6x1= 6x3= 6x10=
11 x6= 6x8= 2X 6= Ox6=
6x6= 6x0= 6x9= Ox6=
7Tx6= 4x6= 6x6= 6x3=
6x1= 6x5= 6x2= 6x8=
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Multiplication Facts (D) Answers

6 x6=36
6x11=66
6x3=18
6x4=24
11 x6=66
6 X 6=36
I x6=6

6x11=66
6 x 6=36
6x9=54
12x6=72
4x6=24
0x6=0

10 x 6=60
2x6=12
6x7=42
11 Xx6=66
8 X 6=48
6x2=12
Tx6=42
Tx6=42
11 x6=66
6 X 6=36
Tx6=42
6x1=6

S5x6=30
6 x 8=48
2x6=12
3x6=18
Tx6=42
6x12=72
3x6=18
2x6=12
6x1=6

6 x5=30
6x3=18
10 x 6=60
2x6=12
8 X 6=48
4x6=24
9x6=54
6x0=0

6x4=24
6 X 6=36
12x6=72
6x1=6

6 x 8=48
6x0=0

4x6=24
6 x5=30

Find each product.

6 x 10=60
6 x9=54
0x6=0

8 x6=48
6x0=0

2x6=12
6 x 10=60
12x6=72
Tx6=42
I x6=6

Tx6=42
9Ox6=54
11 x6=66
I x6=6

6x11=66
12x6=72
6x9=54
10 x 6=60
6x3=18
6 x5=30
6x3=18
2x6=12
6 x9=54
6 x6=36
6x2=12

12x6=72
7Tx6=42
I x6=6

10 x 6 =60
6 x9=54
5x6=30
6x4=24
6x0=0

6 x 8=48
8 x 6=48
6 x6=36
6 x5=30
6x3=18
6 x6=36
6 x5=30
6x0=0

6x1=6

6 x5=30
12x6=72
6x4=24
6 x 10=60
9Ox6=54
0x6=0

6x3=18
6 x 8=48
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Multiplication Facts (E)

Find each product.
6x10= 6x12= 6x11= 6x0=
6x8= 6x4= 6x2= 6 x10=
I x6= 6x7= Sx6= Ox6=
6x11= 12x6= 6x6= 3x6=
6x10= 3xX6= I x6= Ox6=
6x7= 11 x6= 8X 6= 6x6=
4x6= 6x9= 6x5= 6x2=
12x6= 6x6= 6x2= 4x6=
6x11= 6x8= Tx6= Ox6=
3xX6= 6x0= I x6= 6x10=
6x5= 12%x6= 6x12= 4x6=
S5x6= 6x0= 10x6= 6x6=
Ox6= 11x6= 6x2= 6x3=
6x8= 6x7= I x6= 6x5=
6x0= 11 x6= 6x9= 6x6=
10x 6 = 3xX6= 6x2= 4x6=
8 X 6= 6x7= 6x12= I x6=
6x6= Sx6= 11 x6= 2X6=
12x6= 3xX6= 6x0= 4x6=
6x7= 8 X 6= 6x1= 6x9=
6x10= 6x0= 4x6= 6x5=
6x6= Tx6= 6x1= 6x3=
2X6= Ox6= 6x12= 6x10=
6x11= 6x8= 6x1= IX6=
6x8= 11 x6= 4x6= 6x6=
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Multiplication Facts (E) Answers

6 x 10=60
6 x 8§=48
I x6=6

6x11=66
6 x 10=60
6x7=42
4x6=24
12x6=72
6x11=66
3x6=18
6 x5=30
5x6=30
Ox6=54
6 x 8=48
6x0=0

10 x 6=60
8 x 6=48
6 x6=36
12x6=72
6x7=42
6 x 10=60
6 x6=36
2x6=12
6x11=66
6x 8=48

6x12=72
6x4=24
6x7=42
12x6=72
3x6=18
11 x6=66
6 x9=54
6 x6=36
6 x 8=48
6x0=0

12x6=72
6x0=0

11 x6=66
6x7=42
11 x6=66
3x6=18
6x7=42
5x6=30
3x6=18
8 x6=48
6x0=0

Tx6=42
Ox6=54
6 x 8=48
11 x6=66

Find each product.

6x11=66
6x2=12
5x6=30
6 x6=36
I x6=6

8 x6=48
6 x5=30
6x2=12
Tx6=42
I x6=6

6x12=72
10 x 6=60
6x2=12
I x6=6

6 x9=54
6x2=12
6x12=72
11 x6=66
6x0=0

6x1=6

4x6=24
6x1=6

6x12=72
6x1=6

4x6=24

6x0=0

6 x 10=60
Ox6=54
3x6=18
0x6=0

6 X 6=36
6x2=12
4x6=24
Ox6=54
6 x 10=60
4x6=24
6 X 6=36
6x3=18
6 x5=30
6 x6=36
4x6=24
I x6=6

2x6=12
4x6=24
6 x9=54
6 x5=30
6x3=18
6 x 10=60
3x6=18
6 x6=36
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Multiplication Facts (F)

Find each product.
SxX6= 6x2= 6x12= 7Tx6=
Ox6= 6x9= 10x 6= 12x6=
6x6= 3xX6= 6x0= 6x8=
Ox6= 11 x6= 6x1= 10x 6=
Sx6= 6x4= 6x2= 6x7=
6x0= I x6= 6x8= 6x3=
2X6= 6x12= 6x6= 11 x6=
TXx6= SX6= 6x9= 10x 6=
6x4= 6x0= 6x9= 6x6=
6x4= 11 x6= 6x10= 6x3=
8X 6= I x6= 2X6= 12%x6=
6x5= Tx6= 6x8= 2X6=
6x6= 6x4= 6x1= 6x3=
S5x6= 10x 6= 6x0= 6x11=
12x6= Tx6= O9x6= 6x7=
6x0= 12x6= 6x8= 6x10=
SX6= 6x4= 6x9= 6x6=
11 x6= 6x2= 6x3= 6x1=
IOx6= 11 x6= 6x6= Tx6=
2X6= 6x5= 10x6= 3X6=
Ox6= I x6= 12x6= 6x4=
8xX6= 8 X 6= 6x0= 6x5=
6x4= 6x11= 6x6= I x6=
12x 6= 10x 6= 3IxX6= 6x2=
6x7= Ox 6= 6x3= 2X6=
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Multiplication Facts (F) Answers

S5x6=30
O0x6=0

6 x6=36
O9x6=54
S5x6=30
6x0=0

2x6=12
Tx6=42
6x4=24
6x4=24
8 X 6=48
6 x5=30
6 x6=36
5x6=30
12x6=72
6x0=0

S5x6=30
11 x6=66
Ox6=54
2x6=12
0x6=0

8 X 6=48
6x4=24
12x6=72
6x7=42

6x2=12
6x9=54
3x6=18
11 x6=66
6x4=24
1 x6=6

6x12=72
5x6=30
6x0=0

11 x6=66
1 x6=6

Tx6=42
6x4=24
10 x 6=60
Tx6=42
12x6=72
6x4=24
6x2=12
11 x6=66
6 x5=30
1 x6=6

8 X 6=48
6x11=66
10 x 6=60
9x6=54

Find each product.

6x12=72
10 x 6 =60
6x0=0

6x1=6

6x2=12
6 x 8=48
6 X 6=36
6x9=54
6 x9=54
6 x 10=60
2x6=12
6 x 8=48
6x1=6

6x0=0

9x6=54
6 x 8=48
6 x9=54
6x3=18
6 X 6=36
10 x 6=60
12x6=72
6x0=0

6 X 6=36
3x6=18
6x3=18

Tx6=42
12x6=72
6 x 8§=48
10 x 6 =60
6x7=42
6x3=18
11 x6=606
10 x 6 =60
6 x6=36
6x3=18
12x6=72
2x6=12
6x3=18
6x11=66
6x7=42
6 x 10=60
6 x6=36
6x1=6

7x6=42
3x6=18
6x4=24
6 x5=30
I x6=6

6x2=12
2x6=12
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Multiplication Facts (G)

Find each product.
Ox6= 10x 6= Sx6= 6x7=
6x8= 6x6= I x6= O9x6=
6x4= 11 x6= 12x6= 7Tx6=
6x11= O0x6= 6x1= 12%x6=
6x4= Ox 6= 6x5= 6x6=
6x3= 2X6= 6x8= 6x10=
I9x 6= 10x6 = 6x2= 6x6=
12x6= 6x7= 6x1= 6x0=
6x8= 3xX6= 4x6= 6x5=
11 x6= 6x7= 6x12= 6x8=
6x10= 11 x6= 4x6= 6x6=
2X6= 6x1= Ox6= 6x3=
6x0= Sx6= 4x6= 6x0=
6x7= 6x3= 6x9= 11 x6=
6x6= 88X 6= 12x6= 6x5=
6x1= 10x 6= 6x2= 6x1=
11 x6= 6x12= 6x8= Ox6=
6x0= 6x6= 6x4= 6x10=
Tx6= Sx6= 6x3= 2X6=
11 x6= 6x9= S5x6= I x6=
6x7= 4x6= Ox6= 6x6=
6x12= 3xX6= 6x2= 6x8=
10x6 = 10x 6= 12x6= 2X6=
4x6= Tx6= 6x5= 6x3=
6x6= Ox 6= 6x1= 11 x6=
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Multiplication Facts (G) Answers

0x6=0

6 x 8=48
6x4=24
6x11=66
6x4=24
6x3=18
Ox6=54
12x6=72
6 x 8=48
11 X6=66
6 x 10=60
2x6=12
6x0=0

6x7=42
6 x6=36
6x1=6

11 x6=606
6x0=0

7Tx6=42
11 x6=66
6x7=42
6x12=72
10 x 6 =60
4x6=24
6 X 6=36

10 x 6 =60
6 x6=36
11 x6=66
0x6=0

9x6=54
2x6=12
10 x 6=60
6x7=42
3x6=18
6x7=42
11 x6=66
6x1=6

S5x6=30
6x3=18
8 X 6=48
10 x 6=60
6x12=72
6 x6=36
S5x6=30
6 x9=54
4x6=24
3x6=18
10 x 6 =60
Tx6=42
9Ox6=54

Find each product.

5x6=30
I xX6=6

12x6=72
6x1=6

6 x5=30
6 x 8=48
6x2=12
6x1=6

4x6=24
6x12=72
4x6=24
9Ox6=54
4x6=24
6x9=54
12x6=72
6x2=12
6 x 8=48
6 x4=24
6x3=18
5x6=30
0x6=0

6x2=12
12x6=72
6 x5=30
6x1=6

6x7=42
Ox6=54
Tx6=42
12x6=72
6 x6=36
6 x 10=60
6 x6=36
6x0=0

6 x5=30
6 x 8=48
6 x6=36
6x3=18
6x0=0

11 x6=66
6 x5=30
6x1=6

Ox6=54
6 x 10=60
2xX6=12
I x6=6

6 X 6=36
6 x 8=48
2xX6=12
6x3=18
11 x6=606
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Multiplication Facts (H)

Find each product.
Ox6= 6x8= 6x2= 7Tx6=
Ox6= 3xX6= 10x 6= 6x12=
6x8= 6 x4 = 6x5= 6x6=
11 x6= 6x0= I x6= 6x6=
6x2= 6x0= 10x 6= I x6=
6x12= 8 X 6= 6x4= 3x6=
11 x6= 6x7= Sx6= Ox6=
8X 6= 6x4= 6x6= 11 x6=
6x10= 6x12= 6x0= 3X6=
Tx6= 2X6= 6x5= Ox6=
6x1= 6x9= 12x6= 6x6=
6x7= 6x3= 11 x6= 6x4=
6x10= 6x2= 6x0= I x6=
S5x6= 8 X 6= 6x1= 6x6=
6x4= 3xX6= 6x10= 6x5=
7Tx6= 6x2= 12x6= 6x0=
6x8= 6x9= 6x11= 4x6=
2X6= 6x3= 6x0= 6x6=
Sx6= 11 x6= 6x12= 8X 6=
6x10= Tx6= Ox6= I x6=
TxX6= 2X6= 11x6= 6x3=
6x10= 6x0= I x6= 6x5=
6x6= 8 X 6= 6x9= 6x4=
6x12= 6x2= 6x10= 6x4=
Sx6= 12x6= O9x6= Ox6=
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Multiplication Facts (H) Answers

0x6=0

Ox6=54
6 x 8=48
11 Xx6=66
6x2=12
6x12=72
11 x6=66
8 x 6=48
6 x 10=60
Tx6=42
6x1=6

6x7=42
6 x 10=60
5x6=30
6x4=24
Tx6=42
6 x 8=48
2x6=12
S5x6=30
6 x 10=60
Tx6=42
6 x 10=60
6 X 6=36
6x12=72
5x6=30

6 x 8=48
3x6=18
6x4=24
6x0=0

6x0=0

8 x6=48
6x7=42
6x4=24
6x12=72
2x6=12
6 x9=54
6x3=18
6x2=12
8 x6=48
3x6=18
6x2=12
6 x9=54
6x3=18
11 x6=66
Tx6=42
2x6=12
6x0=0

8 x 6=48
6x2=12
12x6=72

Find each product.

6x2=12
10 x 6 =60
6 x5=30
I xX6=6

10 x 6 =60
6 x4=24
5x6=30
6 x6=36
6x0=0

6 x5=30
12x6=72
11 x6=66
6x0=0

6x1=6

6 x 10=60
12x6=72
6x11=66
6x0=0

6x12=72
9x6=54
11 x6=66
I x6=6

6 x9=54
6 x 10=60
9Ox6=54

Tx6=42
6x12=72
6 x6=36
6 x6=36
I x6=6

3x6=18
Ox6=54
11 x6=66
3x6=18
9x6=54
6 x6=36
6x4=24
I x6=6

6 x6=36
6 x5=30
6x0=0

4x6=24
6 X 6=36
8 x 6=48
I x6=6

6x3=18
6 x5=30
6x4=24
6x4=24
0x6=0
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Multiplication Facts (I)

Find each product.
3xX6= 8 X 6= 6x11= 6x7=
6x6= 6x1= 6x2= 8X 6=
Ox6= 6x5= 12x6= 6x1=
6x7= 6x10= 6x11= 3x6=
IOx 6= 6x4= 6x6= 8 X 6=
6x7= 6x6= 3Ix6= 6x1=
6x10= Ox6= 6x5= Ox6=
4x6= 2X6= 12%x6= 11 x6=
4%x6= 11 x6= 6x10= 6x1=
Ox6= 6x7= 6x12= 3X6=
6x5= 8X 6= O9x6= 6x6=
6x2= 12X 6= TxX6= 6x4=
Sx6= O0x6= 2xX6= 6x8=
6x3= 6x6= Ox6= 10 x 6=
6x11= I x6= 8X 6= 3X6=
6x10= I x6= 6x0= 11 x6=
Sx6= 6x12= 6x2= 6x4=
Ox 6= Tx6= 6x6= I x6=
6x5= 12%x6= 8X 6= 6x4=
Ox6= 6x7= 11 x6= 2X6=
6x3= 10x 6= 6x9= 6x6=
6x10= Ox 6= 6x1= 6x2=
6x7= 11 x6= Ox6= 8X 6=
6x5= 3xX6= 6x12= 6x6=
4x6= Sx6= 2xX6= 11 x6=
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Multiplication Facts (I) Answers

3x6=18
6 X 6=36
0x6=0

6x7=42
9x6=54
6x7=42
6 x 10=60
4x6=24
4x6=24
O0x6=0

6 x5=30
6x2=12
S5x6=30
6x3=18
6x11=66
6 x 10=60
S5x6=30
9x6=54
6 x5=30
0x6=0

6x3=18
6 x 10=60
6x7=42
6 x5=30
4x6=24

8 x 6=48
6x1=6

6 x5=30
6 x 10=60
6x4=24
6 x 6=36
0x6=0

2x6=12
11 x6=66
6x7=42
8 x 6=48
12x6=72
0x6=0

6 x6=36
1 x6=6

1 x6=6

6x12=72
Tx6=42
12x6=72
6x7=42
10 x 6 =60
9x6=54
11 x6=66
3x6=18
5x6=30

Find each product.

6x11=66
6x2=12
12x6=72
6x11=66
6 X 6=36
3x6=18
6 x5=30
12x6=72
6 x 10=60
6x12=72
9Ox6=54
7Tx6=42
2x6=12
9Ox6=54
8 X 6=48
6x0=0

6x2=12
6 x6=36
8 x6=48
11 x6=66
6 x9=54
6x1=6

0x6=0

6x12=72
2xX6=12

6x7=42
8 x 6=48
6x1=6

3x6=18
8 x 6=48
6x1=6

9x6=54
11 x6=66
6x1=6

3x6=18
6 x 6=36
6x4=24
6 x 8=48
10 x 6=60
3x6=18
11 x6=66
6x4=24
I x6=6

6x4=24
2x6=12
6 x6=36
6x2=12
8 x 6=48
6 x6=36
11 x6=66
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Multiplication Facts (J)

Find each product.
6x6= 6x3= 6x12= 7Tx6=
6x1= 8X 6= 6x10= 6x4=
6x9= 6x0= 6x0= 2X6=
6x6= 6x3= 6x8= 11 x6=
6x7= Ox 6= 6x10= Sx6=
6x4= 6x12= I x6= 6x9=
3xX6= 6x0= 2X6= 6x1=
8X 6= SX6= 11 x6= 12%x6=
6x6= 4x6= TxX6= 6x10=
6x3= 6x0= 12X 6= 6x6=
4%x6= Ox 6= 6x1= 10x6=
S5x6= 11 x6= TxX6= 2X6=
8X 6= 6x1= 6x4= SXx6=
11 x6= Ox 6= 6x7= 6x12=
6x0= 6x6= 6x3= 10x6=
6x2= 8 X 6= 6x10= 6x6=
Tx6= 3X6= 6x11= 6x1=
6x12= 2X 6= 6x4= Sx6=
8 X 6= O0x6= O9x6= SX6=
6x0= 6x7= 6x12= 3X6=
6x9= 11 x6= 6x8= 4x6=
6x6= 6x2= 6x10= I x6=
6x10= 3xX6= 6x9= 6x6=
Sx6= 8 X 6= 6x12= 6x0=
2X6= 6x7= 6x4= 6x1=
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Multiplication Facts (J) Answers

6 x6=36
6x1=6

6 x9=54
6 x6=36
6x7=42
6x4=24
3x6=18
8 x 6=48
6 X 6=36
6x3=18
4x6=24
5x6=30
8 X 6=48
11 x6=66
6x0=0

6x2=12
7x6=42
6x12=72
8 x 6=48
6x0=0

6 x9=54
6 x6=36
6 x 10=60
5x6=30
2x6=12

6x3=18
8x 6=48
6x0=0

6x3=18
9x6=54
6x12=72
6x0=0

5x6=30
4x6=24
6x0=0

Ox6=54
11 x6=66
6x1=6

9x6=54
6 X 6=36
8x 6=48
3x6=18
2x6=12
0x6=0

6x7=42
11 Xx6=66
6x2=12
3x6=18
8 X 6=48
6x7=42

Find each product.

6x12=72
6 x 10=60
6x0=0

6 x 8=48
6 x 10=60
I x6=6

2x6=12
11 x6=66
Tx6=42
12x6=72
6x1=6

7Tx6=42
6x4=24
6x7=42
6x3=18
6 x 10=60
6x11=66
6 x4=24
9x6=54
6x12=72
6 x 8=48
6 x 10=60
6 x9=54
6x12=72
6 x4=24

Tx6=42
6x4=24
2xX6=12
11 x6=66
S5x6=30
6x9=54
6x1=6

12x6=72
6 x 10=60
6 X 6=36
10 x 6=60
2x6=12
S5x6=30
6x12=72
10 x 6 =60
6 x6=36
6x1=6

5x6=30
S5x6=30
3x6=18
4x6=24
I x6=6

6 x6=36
6x0=0

6x1=6
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